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QUESTION 1

Which of the following defines a reusable value that can be reassigned? 

A. Method 

B. Variable 

C. Constant 

D. Function 

Correct Answer: B 

 

QUESTION 2

Which of the following programming languages would most likely include tables and the SELECT command? 

A. Compiled 

B. Markup 

C. Query 

D. Scripting 

Correct Answer: C 

 

QUESTION 3

Which of the following CIA triad concerns is violated when known-good computer hard drives and printed documents
are placed in the trash? 

A. Availability 

B. Confidentiality 

C. Integrity 

D. Accounting 

Correct Answer: B 

 

QUESTION 4

Which of the following is a logical structure for storing files? 

A. Folder 
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B. Extension 

C. Permissions 

D. Shortcut 

Correct Answer: A 

 

QUESTION 5

Which of the following is a characteristic of volatile storage? 

A. It is the preferred method for archiving files. 

B. It can only be written once. 

C. It causes information to be lost if power is removed. 

D. It is inherent in all solid-state components. 

Correct Answer: C 
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